REnkiEn R B Ak
1R (1-2i) + (-2 +3i) + (83— 4i)+ (—4+5i)+--- + (1999 — 2000i ) + (—2000 + 2001i) .
fift: (FRE—D
= (1-2+3-4+5-6++1999 — 2000)+ (—2+3—4+5—6+ - — 2000 + 2001)i

= 4000+ 10
(k=D

(1-2i)+(-2+3i)=-1+i;
(3—4i)+(-4+5i)=-1+i;

(1999 — 2000i ) + (~2000 + 2001i ) = ~1+i.

%) 1000 201 BN, £51000(—1+i) = —1000 +1000i
2. BIz,,2, € C |z)| =|z,| =1, |2, + 2,| = /3 K|z, — 2, -
X1
fiEbT: FEHOIN. AR U AT, DU OZ,2Z, N3, HZEIEAT 2640 1

HTER, |z, - 7, =1

3.00MzeC Hlz|=1, M|z+2-i| GAmRECRLD FMEA .

%% 5-1
AT EBUE R R Rz BTN 5 Z EUR AU, AR 1 IR
|2+ 2—i| =z - (-2 +0)| ATELE A LA LI AT Z B (-2,1) IR,

Wz (-2,0), mEH, BMEAVE -1,

0

4. VE R AIA 2 HO . A 1 UART T SCIERA BA T 48




RPN, 7,2, MR A, B, 2, + 2, RIS 3N C, O NARHHE A

(K0, A, B AL
1) JUZiJ¥% OACB A AT
2) Hilz, +1,|=z, - z,|, WL OACB Hhi.

3) . ¥ilz)|=|z,|, WML OACB KEE.

8) . #zy|=|z,| Bz, + 2,| =z, - z,|, WAL OACB NIETS



